THRISEE

A L C LK
B COD¥EE! | A(##BIA) i b e
]]
% St.1 e EXR-BEE —
—iRIEE _
K& (°C)
1 X [SsECC) =B fE 2 KE FERE iR R=Ei:] R
58 =l 22.0 20.2 - 7.5 1.5 BE xE-8 |BER-M
78 £ 17.0 22.5 - 7.5 35 BE xe-b |BER-M
94 B4l 28.0 28.7 — 6.0 5.0 BE zEe-E |BER-M
118 £ 18.0 20.5 - 7.5 5.5 BE [(BE-E@[EER-M
18 Eh 12.0 15.0 - 7.5 5.0 BE RER |BER-MW
3R Bl 3.5 13.0 - 7.5 4.5 BE RE-x | BER-M
4EFRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 756LLF | 20LLF | 1000LIF | JEieth — —
B (75%IE) - 8.2 1.7(1.9) - <0.5 0.34 0.016
58 == 8.1 8.2 1.7 - <0.5 0.34 0.027
8.2 7.6 1.9 - <0.5 - -
A hE - - - - - - -
oF == 8.1 7.1 1.7 - <0.5 0.47 0.014
hE - - - - - - -
158 == 8.2 8.2 2.0 - <0.5 0.28 0.007
hE - - - - - - -
18 == 8.1 9.4 0.9 - <0.5 - -
hE - - - - - - -
3g == 8.0 8.4 1.8 - <0.5 0.26 0.016
fE - - - - - - -
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FE#H | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lzx-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay B&R IRy IFLY oaITFLY a4y oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -




FhS5400(1,3-o40 = .y aes FHFHA: N .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF [0.00221F [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF | 001LLF | 10LLF
EFEjE — — — — — — — —
sA - - - - - - - -
1A - - - - - - - -
oA - - - - - - - -
118 - - - — - - - —
18 - - - - - - - -
38 - - - - - - - —

ZTNDIEHE
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 - - -
T - - 1 - - -
5ﬁ ;E _ _ _ _ _ —
—_ —_ <1 —_ —_ —_
7H ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
—_ —_ <1 —_ —_ —_
1A ;E — — — = — -
—_ —_ <1 —_ —_ —_
Gl - - s - - -
i iggﬁ Ry
(mg/1) (mg/1) (mg/1)
EBIE] 16000 - <0.01
5 =E 14000 = <0.01
18000 - -
15000 - <0.01
16000 - <0.01
118 ;E - - -
16000 - -
17000 - <0.01
Gl 0 - !



THRISEE

A L C LK
B COD¥EE! | A(##BIA) i b e
]]
R St.2 e EXR-BEE —
—HRI5H _
7Kim (°C)
1 X [SsECC) =B fE 2 KE FERE iR 1 R
58 =l 22.0 20.2 - 15.0 4.5 BE ke [BER-W
Z1 Y 17.0 225 - 12.0 4.5 B fxfa-h |BER-H
98 g 28.0 27.6 - 15.0 5.5 BE zEe-E |BER-M
118 £ 18.0 20.5 - 13.5 7.0 BE (B E@[EER-WM
18 Eh 12.0 16.0 - 15.0 10.5 BE RER |BER-MW
38 g 35 13.0 - 15.0 4.5 BE fxE-E |BER-H
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEieth — —
EHE(75%IE) - 8.0 1.8(1.8) - <0.5 0.40 0.016
58 == 8.2 8.2 1.4 - <0.5 0.35 0.018
8.2 7.5 1.8 - <0.5 - -
A hE - - - - - - -
oF == 8.1 6.7 1.8 - <0.5 0.61 0.017
hE - - - - - - -
158 == 8.2 8.1 2.0 - <0.5 0.31 0.007
hE - - - - - - -
18 == 8.1 9.2 1.7 - <0.5 - -
hE - - - - - - -
3g == 8.2 8.3 1.8 - <0.5 0.33 0.023
fE - - - - - - -
BEEIER (REDAHA)
NP INIESDY & & Ao L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FE#H | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -




FrS4H00(1,3-4n - . sea FAAL Sa s .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| FE#EfE] 0.01LLF (000200 F [ 0.006LLF | 0.003LLF [ 002ELF [ 001LLF [ 001LF [ 10LF
EF_EjE — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - — - -
18 - - - - - - - -
38 - - - - - - — —
ZTD{hIFH
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
T - - 1 - - -
—_ —_ ‘I —_ —_ —_
7H ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
—_ —_ 2 —_ —_ —_
—_ —_ <1 —_ —_ —_
—_ —_ ‘I —_ —_ —_
Gl - - ! - - .
i iggﬁ Y
(mg/1) (mg/1) (mg/1)
EBIE] 17000 - 0.01
5 =B 17000 = <0.01
=8 1m0 : :
17000 - -
17000 - 0.01
17000 - <0.01
118 ; E - = :
18000 - -
17000 - 0.01
Gl 0 - .



THRISEE

AL C LK
% E g g J] _+_5 ,‘f—(_'\ ,," &
e B — COD#EE! [A(E#EH) i b e
St.3 EXR-HEY — -
—iRI5H _
K& (°C)
1 X [SsECC) =B fE 2 KE FERE iR 1 R
58 £ 22.0 20.2 - 16.5 4.5 BE ke [BER-W
78 £ 175 22.5 - 16.5 3.5 BE xe-b |BER-M
98 g 29.0 27.5 - 15.0 5.5 BE zEe-E |BER-M
11| £Y 18.0 20.5 - 16.5 75 BE RE-REE)BER -
18 Fh 12.0 16.0 - 15.0 10.5 BE RER |BER-MW
38 g 35 13.0 - 16.5 4.5 BE fxE-E |BER-H
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH — —
THE(75%IE) - 8.2 1.6(1.9) 12 <0.5 0.28 0.015
58 == 8.2 8.2 1.6 - <0.5 0.24 0.016
hE - - - - - - -
78 == 8.2 7.7 1.8 23 <0.5 - -
hE - - - - - - -
oF == 8.2 7.3 1.4 - <0.5 0.28 0.011
hE - - - - - - -
158 == 8.2 8.4 2.0 - <0.5 0.26 0.017
hE - - - - - - -
18 == 8.1 9.3 0.8 0.0 <0.5 - -
hE - - - - - - -
3g == 8.2 8.2 1.9 - <0.5 0.33 0.014
fE - - - - - - -
BEEE (REBDHEHA)
NP INIESD S ED Aol IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#(E] 001LLTF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JE#RH JERRH |
EfE]  <0.002 = <0.005 <0.02 <0.001 <0.0005 = =
58] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
78 - - - - - - - -
98 - - - - - - - -
11B] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
18] - - - - - - - -
38 - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay o IAY IFLY OaxTFLY oT4ay aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58] <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
78 - - - - - - - -
98 - - - - - - - -
11B] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
18] - - - - - - - -
38 - - - - - - - -




Fh5490n(1,3-o40 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| F{E] 0.01LLF [0002L1F | 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EHE]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12
58] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
18 - - - - - - - -
9A8 - - - - - - - -
11A]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
18 - - - - - - - -
38 - - - - - - - -
EDHMIER
Jz/—n| 6 ss £EH |sookus| A,
FILTEFR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - : 1 : : :
xE - - 1 - - -
5ﬁ ;E _ _ _ _ _ —
e e s B ‘
— — 2 — — —
R e e B — ‘
— — 2 — — —
P s - e ‘
- B s ‘
— — ‘I — — —
3
Bt | WIHEM . .
(mg/1) (mg/1) (mg/1)
FEHIEl 18000 <0.01 <0.01
55 EAC 17000 <0.01 <0.01
T E——
18000 - -
18000 - <001
R em - -
118 b 17000 <0.01 <0.01
7 T -
18000 - -
18000 - <0.01
3



THISEE

AL C LK
B COD#EE! | A(##BIA) i b e
]]
R St.4 e EXR-BEE - —
—iRI5E _
JKim (°C)
1 X [SsECC) =E fE 2 KE FERE i 1 R
58] =Y 220 20.2 - 16.5 5.0 Gk e | BER-H
Z1 Y 16.5 220 - 15.0 3.0 B fxfa-h |BER-H
98 £ 27.0 27.5 - 24.0 6.5 BE xE-E |BER-M
118 £ 18.0 20.5 - 24.0 8.5 BE GE-EEE]EER-K
18 g 12.0 16.5 - 24.0 10.5 BE RER |BER-MW
38 BN 3.5 13.0 - 240 4.5 B E xE-E |BER-H
4FRIEIER _ _
oH DO COD | XBEEH n-~AXY o 2BFH =i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEietH — —
EHE(75%IE) - 7.8 1.8(2.0) - <0.5 0.46 0.040
58 == 8.2 7.6 1.8 - <0.5 0.30 0.022
8.3 7.6 2.0 - <0.5 - -
A hE - - - - - - -
oF == 8.2 6.8 15 - <0.5 0.48 0.019
hE - - - - - - -
158 == 8.2 7.5 2.0 - <0.5 0.54 0.007
hE - - - - - - -
18 == 8.1 9.2 1.7 - <0.5 - -
hE - - - - - - -
3g == 8.2 8.1 1.8 - <0.5 0.50 0.11
fE - - - - - - -
BEEIER (REDAHA
NP INIESDY & ED N0 L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 = = = = = = = =
yoni| migdk [1,2-0o00( 1,1-5an [Lzx-12-S4[1,1,1-M) &0l 1,1,2-r)450 | B)S0O0
"y B&R IRy IFLY oaITFLY oT4y oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000200 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 = = = = = = = =




FhS400(1,3-o40 = . aes FHFHA: on 1oe .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| FE#EfE] 0.01LLF (000200 F [ 0.006LLF | 0.003LLF [ 002ELF [ 001LLF [ 001LF [ 10LF
EF_EjE — — — — — — — —

5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - — -
18 - - - - - - - -
38 - - - — - - - —
ZTD{hIEH
IT/— V| SS 2T | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
T - - 1 - - -
—_ —_ <1 —_ —_ —_
—_ —_ 2 —_ —_ —_
gﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
—_ —_ <1 —_ —_ —_
18 ;E — — — = - -
—_ —_ <1 —_ —_ —_
Gl - - s - - -
i iggﬁ Y
(mg/1) (mg/1) (mg/1)
SEI9TE| 18000 - 0.02
=B 18000 - 0.01
17000 - -
18000 - <0.01
18000 - <0.01
118 ;E - = -
18000 - -
18000 - 0.05
Gl 0 - 0



THISEE

A L C LK
B COD#EE! | A(##BIA) i b e
]]
% St.5 e EXR-BEE - —
—iRI5H _
K& (°C)
1 X [SsECC) =E fE 2 KE A Fiin 1 R
58 =l 23.0 20.2 - 11.0 5.5 BE ke [BER-W
78 Eh 17.0 22.0 - 9.5 35 BE xEe-b |BER-M
94 B4l 29.0 27.7 — 7.5 6.0 BE xE-E |BER-M
118 £ 18.0 20.5 - 10.5 6.0 BE (e E@[EER-M
18 Fh 12.0 17.0 - 10.5 9.0 BE RER |BER-MW
38 BN 4.0 13.2 - 9.0 4.5 B xE-E |BER-H
4FRIEIER _ _
oH DO COD | XBEEH n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JFietH — —
EHE(75%IE) - 8.1 1.8(1.9) - <0.5 0.25 0.018
58 == 8.2 8.1 1.7 - <0.5 0.23 0.021
8.3 7.7 1.6 - <0.5 - -
A hE - - - - - - -
oF == 8.2 7.2 1.6 - <0.5 0.30 0.016
hE - - - - - - -
18 =B 8.2 8.3 2.0 - <0.5 0.22 0.012
hE - - - - - - -
18 == 8.1 9.2 1.9 - <0.5 - -
hE - - - - - - -
3g == 8.1 8.2 1.9 - <0.5 0.26 0.023
fE - - - - - - -
BEEE (REBDHEHA)
NP INIESDY & ED Ao L IS Mk |(7rxLkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0O0A
Ay o Iy IFLY OaxTFLY AaT4y oxT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000200 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -




FrS4H00(1,3-4n - . sea FAAL Sa s .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| FE#EfE] 0.01LLF (000200 F [ 0.006LLF | 0.003LLF [ 002ELF [ 001LLF [ 001LF [ 10LF
EF_EjE — — — — — — — —

5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - — - -
18 - - - - - - - -
38 - - - - - - — —
ZTD{hIEH
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
T - - 1 - - -
—_ —_ ‘I —_ —_ —_
7H ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
—_ —_ <1 —_ —_ —_
—_ —_ ‘I —_ —_ —_
Gl - - ! - - .
i iggﬁ Y
(mg/1) (mg/1) (mg/1)
EBIE] 18000 - 0.01
=B 18000 = 0.01
18000 - -
17000 - <0.01
18000 - <0.01
118 ; E - = :
18000 - -
18000 - 0.01
Gl 0 - .




THRISEE

A L C LK
) ot 5 3635 3k (X
5 BaEE — COD¥E®! |B(H#m) B X
St.6 EXR-HEY — -
—iRI5E _
K& (°C)
1 X [SsECC) =B fE 2 KE FERE iR 1 R
58 £ 23.0 20.2 - 7.5 4.0 BE ke [BER-W
78 gEh 17.0 22.5 - 7.5 35 BE ke |BER-M
94 B4l 29.0 27.7 — 7.5 35 BE zEe-E |BER-M
118 £ 18.0 20.5 - 7.5 5.5 BE [(BE-E@[EER-M
18 Eh 12.0 17.0 - 6.0 6.0 BE RER |BER-MW
3R Bl 4.0 13.2 - 7.5 4.0 BE k- |BER-M
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 7.8~83] 5.0LLE | 30LLTF — R — —
EHE(75%IE) - 8.1 1.6(1.6) - <0.5 0.24 0.039
58 == 8.2 8.2 1.6 - <0.5 0.25 0.020
8.2 7.6 1.6 - <0.5 - -
A hE - - - - - - -
oF == 8.2 7.3 15 - <0.5 0.23 0.016
hE - - - - - - -
158 == 8.2 8.4 1.6 - <0.5 0.22 0.012
hE - - - - - - -
18 == 8.2 9.2 15 - <0.5 - -
hE - - - - - - -
3g == 8.2 8.1 1.9 - <0.5 0.27 0.107
fE - - - - - - -
BEEE (REBDHEHA)
EINSPINIES DS ED (A=W IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JE#RH JERRH |
EfE]  <0.002 = <0.005 <0.02 <0.001 <0.0005 = =
58] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
78 - - - - - - - -
94 - - - - - - - -
11B] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
18] - - - - - - - -
38 - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay o IAY IFLY OaxTFLY aT4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #{E] 0.02LLF | 000200 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58] <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
78 - - - - - - - -
98 - - - - - - - -
11B] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
18] - - - - - - - -
38 - - - - - - - -




FhS40n(1,3->4n = N FARY T . HRMEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
3F-§11i§ <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
5H <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.06
1H - - - - - - - -
98 - - - - - - - -
118 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.19
18 — — — — — — — —
38 - - - - - - - -
ZTNDhIEH
RILL
Jx/—) R SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
T - 2 - - -
=B - - 2 - - -
. - i - - -
—_ —_ ‘I —_ —_ —_
1, I - - ; - - -
—_ —_ 2 —_ —_ —_
T, I - - ; - - -
—_ —_ 2 —_ —_ —_
e - : - - -
—_ —_ <1 —_ —_ —_
1 ﬁ ;E _ _ _ _ — —
—_ —_ ‘I —_ —_ —_
3
-ty I . .
(mg/1) (mg/1) (mg/1)
EBIE] 18000 <0.01 0.02
55 =B 18000 <0.01 0.01
=8 1m0 - -
17000 - -
17000 - <0.01
118 =B 18000 <0.01 0.01
=8 | - -
18000 - -
18000 - 0.05
3



